2025/10/15 10:17 1/5 2-SAT
2-SAT

SAT O O O O[Satisfiabilityl0 0000000000 k-00000000O k-SATJO O $k>2$ 00
O0OONPODOOOODODOO $k=2¢0000

N

2-SATJ0 0000000 $n$0000000000000DO0O0O0O0O0 $<a,b>$000 %$a$0 $bs 00
O00O $a$0 %b$000000000DOO0O0O0OOODO0O0OODOOOOODOOOOO $n$OO00O0ODO
gobogobboobobooobbooobobuoooobooooon

ooon

O00O0o0obOOo0ooO0obobo0obOoooO0ooOooboobOUobObOOobOoOobO AODDODO BOODOOQCO
OoboO0obOOODbOOODbOO0OOODOOOOO0OODOODOOO0DDOO0ObOOODbDOODDOObDbOODOObOOD
gooogd

0000000000000 0 $a$00 $A$00000000 $B$00000O0ODO $(\nega);bs 00
$C$ 0000000 $\negb$ 00 000ODOOODOOOOOOODOOO $(alorb)$fdnO $a,bs 00O
0000000000000 000D0O00O0%abbas0sas 0000 $b$0000O0ODOON$PSTODO
O%$$000000000000000000000DO000O 2SATODOODO

Joogoa

Tarjan SCC O O

gobooobbooobboonooboa

000 $al,a2$ 0 $b1,b2$ 00000 $al$0 $b2$ 000000000 0ODO0O0OO0OOOOOOO0O
OoDoooOooooooOoOO0O $(albl)$s 0 $(b2,62)$ D000 $als 0000 $b1sO0 0O $b2% O
000 $a24000000

O00o0o0oOOOoODoDoOoODOOODO TerjanSCCOCOOOOOOOOOOOOOOODOOO SCCOOOOO
OO00O00DOO000O0bOOo0obOoOooOOobooOOoboobogob sccoooooono

0000000000000 000000000000000000 $\negx$00000 $x$000
000 $x$ 0000000 TarfanOOOOO0OO $x$00 SCCOOO $\negx$ 00000 $x$000
OO0 Tarjan OO O00D0O0OO0O0O0OQCOOODO TarjanDOOO SCCOOOOODOODOOO

0000000000 $0(n+m)s

HEN

HDU 3062 Party

CVBB ACM Team - https://wiki.cvbbacm.com/


http://acm.hdu.edu.cn/showproblem.php?pid=3062

Last
update:
2020/08/25
19:16

2020-2021:teams:legal_string:lgwza:2-sat https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:lgwza:2-sat&rev=1598354213

0000 $$n$ 0000000000000 0000DO000DO0O0O0O00O0O$sO0O0DO0O0OO0
$2n$ 0 0000000000000 0ODO0O00ODO0O0O0O0OODOO0ODOO0O0O0 $25000000

0000000000000 O00ooo $n$s0onooogo

0000000000 25ATO00ODO0O0O0O0ODOOO0O00OD0ODO0O0O0D %al$00000 %a2¢00
O00000000 $1s00000 $2400000000 %22¢00000 %21$00000000

gobogoboogod

goodd

#include<bits/stdc++.h>

using namespace std;

const int N=3e3+20;

int dfn[N],sIN!,top,low[N]|,cnt;

int sc,scc|N];

bool in[N];

vector<int>adj[N]|;

void add(int u,int v
adjlul.push back(v);

void tarjan(int u
dfnful=low[u]=++cnt;
s[++top|=u;
inful=1;

int i=0;i<adjlu].size();i++
int v=adjlullil;
Idfn|v
tarjan(v);
low|[ul=min(low(u], low|v

in|v
low/ul=min(low|ul,dfnlv

dfn{ul==low|u
++SC;

scclsitopll=sc;
in[s|[top] =0;
s top--/!=u);

int n,m;
bool solve
int i=0;i<2*n;i++
ldfn[i]) tarjan(i);

int 1=0;i<2*n;i+=
scclil==sccli+

’

.
’
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void init
memset(dfn,0,sizeof (dfn));
memset (low,0,sizeof (low) ) ;
top=cnt=sc=0;
memset(scc,0,sizeof(scc));
memset(in,0,sizeof(in));
memset(s,0,sizeof(s));

int i=0;i<N;i++) adj[i].clear();

int main
~scanf ("%d%d",&n, &m
init();

int i=1;i<=m;i++

int al,a2,cl,c2;

scanf("%d %d %d %d",&al,&a2,&cl,&c2);

add (2*al+cl,2*a2+1-c2);//000 1 0000000 2i+]1 ODO00O0OQ21 O
ogooao

add (2*a2+c2,2*al+l-cl);

solve puts("YES");
puts("NO");
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#include <bits/stdc++.h>
using namespace std;
const int maxn = 1le4 + 5;
const int maxk ;
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int n, k;

int id[maxn ;

char s[maxn , ans|[maxk];
bool vis[maxn!;

struct Edge
int v, nxt;
e/ maxn * ;
int headmaxn!, tot = 1;
void addedge(int u, int v
eltot|.v = v;
e[tot].nxt = head|ul;
head[u] = tot++;

int dfn[maxn], low/maxn|, color[maxn]|, stkimaxn|, ins/maxn!, top,
dfs clock, c;
void tarjan(int x

stk ++top| = Xx;
ins(x| = 1;
dfnix] = low/x| = ++dfs clock;

int 1 = head[x]; i; i = e[i].nxt
int v = e[i].v;

ldfnlv
tarjan(v);
low[x] = min(low(x], lowl(v]);
inslv
low/ x| = min(low! x|, dfniv]);
dfn[x] == low|Xx
C++;
color[stkitop!| = c;
ins|stk[top|! = 0;
stk[top--| !'= x);
int main
scanf("%d %d", &k, &n);
int 1 = 1; i <= n; i++
int j = 1; j <= 3; j++) scanf("%d%s", &id[i][j], s[il[]j]);
int j = 1; j <= 3; J++
int k = 1; k <= 3; k++
j =k ;
int u = *idlil[j] - (s[ill] == 'B');
int v =2 * id[i][k] - (s[i][k == 'R');

addedge(u, v);
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int i ;o 1<= 2 % k; 1++
ldfn[i]) tarjan(i);

int i i o<= * k; 1 +=
color[i] == color/i +
pUtS ||_1|| ;

’

int i = 1; i <= * k; 1 +=
int f1 = color[i], f2 = color[i + c
vis|[fl
ans| (i + >> = 'R';

vis|[f2
ans| (i + >> = 'B';

fl < f2
vis[fl] = 1;
ans| (i + >> = "Ro¢c

vis[f2] = 1;
ans| (i + >> = "B c

ans 'k + = 0;
printf("%s\n", ans + ;

’
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